=
<

a(d cot(d))

a

=) C
gt_S L
= L
Q L
o -
1072
2 I
IS r. :
g 1sf :
[ o
| R
L T =+
10 1 1 2 10°
0 TP |oO (PCA t%obeamllnef)
T
= RON-MrET QORGRR update
—— DOM”m Fltjgoﬁ 8D-u ate -n% PLDNN
—— DQM”mKE|t= o;t D-updated-TTbarDNN
—— DOM”mKFit—SoftQCD-updated-TTharDNN25
=~ 1 -
5
*
o}
=2
o]
1071
.910‘_—_2_ 1 II”I!_" 1 |||||||! 1 |||||||! EEERTIT
g8 : ;
o Bl 2 [ERRER R AR
r <« | . :
0.5k 55l i ] R Feeneeeneoees drenenennnees
10" 1 10 0 . 10°
TPp, (PCA tlo beamline
n=
o
-
o
o
o

{15

I : 2 3
1 TPlpg)T (PCA t%)obeamlin%)o

_
IS [:
o L.
— - -
—
N
o]
o
=
[e]

2

T

-1 2 3
10 1 TPlp?T (PCA tjbobeamliné'f)



	Contents
	Page 1


